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General English

Fill in the blanks with appropriate words (questions 13-14)
She likes -—------ long emails.

A, writes . writing C. write
We -—--—-- not hurry, we have got plenty of time.

A. may ® ncd C. would

Choose the correct sentence:
A. The more you read, less you understand.
B. More you read, less you understand.
The more you read, the less you understand.
D. More you read, the less you understand.

Choose the correct form of verb (questions 16-17)

Sumon is not here, he is out ------- his uncle.

A, visited B. s visiting @ visiting
1 wish I-———-- a child again.

A, am were C. was

D. &9l + wiEaH
D. wrote
D. do
D. wvisits
D. be

Select the alternative that best replaces the underlined word of the sentence below:

He is intimidated by his boss.
@ frightened B. promoted C. disliked

D.

encouraged

Choose the appropriate pair of words matching the relationship suggested in the capitalized

pair
FANS: GALLERIES

A. Teams: Goalposts
@ Audience: Seats

Which word is wrongly spelt ?
A, Deceive B. Receive C. Recede

Choose the appropriate preposition (questions 21-22)
The gift was wrapped --—-- blue paper.

B. Referee: Decision
D. Tickets: Counters

A. by B. around C. of
I will take my driving test - a week.
in B. about G- ifor D.
What is the right synonym of ‘Hostile’ ?
A, [Tlexible Unfriendly C. Happy D.
LY
Complete the sentence:
24. ‘The patient’s blood pressure was ---------- :
A. so high to ignore B. much higher to ignore
. o high to ignore D. more high to ignore
s PifSas tore fofes Fwas
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26.

27.

28.

3l.

foTafde (Accounting)

0 T i e @ ¢ 00 000 BTR ST GG SRST FREIS T F0E A SHECR T 49 W ¢o 000 B |
FEE Yo% W TRPRAT *HfE0s w6y 41 30w W e AU W WATE 3 3¢ ,000 R | W« 3 20 000
Srem R #a1 =7+ B A8 91 WS %A (A few years ago, Jhilmil Traders purchased an office
equipment at a cost of Tk. 5,00,000 and estmated its salvage value of Tk. 50,000. As of today, the
accumulated depreciation at 10% per annum under straight-line method is of Tk. 2,25,000. Today if it
could be sold for Tk. 2,50,000, what would be the gain or loss on this sale?)

A. % 9 00 coo B (Tk. 3,00,000 loss) & =% 3¢ oo BRA (Tk. 25,000 loss)

C. #® 3¢ 000 B1aT (Tk. 25,000 gain) D. 1S3 a¢,000 BT (Tk. 2,75,000 gain)

“{faeETTe i eare e fisa it A5 g A cint 39S @2 (Which one is added to net income in
the calculation of operating cash flow?)

@ W (Depreciation)
B. fafsmm AT (Gain on sale of investments)
C. & W@ 3% (Increase in current liabilities)

D. e IR (Decrease in current assets)

AR AR 63 ooo T, S I o1eAT 3 oo T O SfEfEE S Aem 3 000 BRI A
CRITCER '8° @ P A 27 oy i S =near Afufes cfel Teem 5 ooo B 2, S vl Jue sAmify
“fitaeT s 9% aT® a2 (In trial balance, account receivable is of Tk. 52,000; recorded bad debt of
Tk.2,000 and unrecorded bad debt of Tk. 2,000. What is the amount of allowance for doubtful accounts
kept in current year if the allowance is 5% on accounts receivable and credit balance in allowance for
doubtful accounts currently is of Tk. 1,000 2)

A. @00 B (Tk. 2,500) B. 5,000 O/ (Tk. 1,000)
C. 3,800 BRI (Tk. 2,400) D. .00 5131 (Tk. 1,500)
e Spras T T SRl WD WS Se [{eadics 49 0 47% | (Contingent liabilities are
shown in the body of financial statement because we follow the principle of )
A. TS WG (Business Entity) B. f&@R=we (Perodicity)
@ T (Full-disclosure) v D: i (Matching)

(B WS #TE TEFED 3¢ ,¢oo B[ S G T 53 ,¢oo BRI, T T (T TS “ATF ST (40T 0 A0S (0% |
9% WS i Fweis FHREE @ TFH TeR o 557 #ER @A (An inventory having cost price
and market price of Tk. 15,500 and Tk. 12,500 respectively has been omitted while counting the
inventory at the year end. What would be the effect on business profit, if this inventory is properly
accounted for)

A. T 3¢ oo BRI FA | (Decrease of profit by Tk. 15,500)

B. T ©oo0 B ¥F | (Decrease of profit by Tk. 3,000)

C. ¥ 9,000 BRI IR | (Increase of profit by Tk. 3,000)

@ T 33 @00 BT A9ER 1 (Increase of profit by Tk. 12,500)

FHfb E%#iH UHE B2 (Which one is an element of cost of production?)

A, S S®1 (Office rent) @ arF FpmE (Indirect Raw Material)

C. T®FE T% (Advertsing expensc) D. F-% (Bad Debr)

3030 T AT @R F74E 90,000 BIE FHE W& W Yoo 000 BIEl (UErE | Frfers e T3
| (During 2020 Rashna Company’s assets decreased by Tk. 70,000 and liabilities increased

by Tk. 1,00,000. Its owners’ equity, therefore J
A. 3,90 ,000 BRI (UG (increased by Tk. @ 3.90,000 BRI FEE (decreased by Tk.

1,70,000) 1,70,000)
C. o000 BT RUSTE (increased by Tk. D. o000 5% TEE (decreased by Tk. 30,000)
30,000)
e P9z tiTs fofes Fwes
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32.

33.

35.

36.

37.

38.

39

40.

T 7 GO SRRF TR (9 3¢ 000 DR | BF RN T ¢o oo BT, T (T 3 ,¢o0 BIEI 6
wiEefEaET T d¢ 000 O fi#1 | o O8I % G791 T 20 000 BT #17 waRe T0e WITE | ey
it I #ffRE | (Rangdhanu Shoe Store had a beginning merchandise inventory of Tk.
25,000. During the period, purchases were of Tk. 50,000; purchase returns were of Tk. 2,500 and
freight-in was of Tk. 15,000. A physical count of inventory at the end of period revealed that Tk. 20,000

was still on hand. The cost of goods available for sale was )
A.  83,¢o0 BT (Tk. 42,500) “B. @3 o0 BRA (Tk. 52,500)
C. 3,¢00 W (Tk. 67,500) @ v3,co0 B (Tk. 87,500)

PR e T efers wef Ramred arenfr e fie o R <R 12 (Which of the following
accounts will not appear in the ledger of a merchandise company that uses a periodic inventory systein?)

@ FRfES *wm T (Cost of Goods Sold) B. @ (Purchase)
C. 0 @& (Freight-in) D. TEIW (Purchase Discount)

Wi @I o 000 B S SFeErm -G SRR B SO0 o e | S areife BER
it F @SR 72 (Alif Company purchased office furniture of Tk. 10,000 by issuing a short-term
promissory note. What would be the effect on the components of the basic accnunung equation of
Alif Company?)
A, A e TmEm {An increase in assets and a decrease in liabilities)
B. F™HZ WA (A decrease in assets and an increase in liabilities)

=W @ W E59% 9% (An increase in both assets and liabilities)
D. 77 e 7 TSHE IF (A decrease in both assets and liabilities)

fisn o Refes 3 ety =52 (Which of the Fullomng is an example of deferred revenue
expenditure?)

A. =357 (Depreciation) B. SRETE (Amortization)

C. omfi® %35 (Preliminary Expense) @ B &8 T (Prepaid Rent)

e o Feemift ol e o fAfHe o wnféfes wremms 2461 o787 (Which of the following statements

describes the financial position of an organization at a particular point in time?)

A, oRTE R (Statement of Cash B. e ¥g FRed (Statement of Owner’s
Flows) Equity)
C. = e (Income Statement) . % (Balance Sheer)

T S (Business Principles)

IR AR TR oFE TR 6 S A <@ (What s the maximum number of partners in
partnership business in the banking sector?)

A A2 B. 20 (20) ® - D. ¢o(30)
I CF B ¥ T —— W | (Bonus share is issued among J

A, *REFRTHE (directors) 0 cermerTE (sharcholders)

C. foraemrarsmmm (debentureholders) D. SR (public)

A A WS T e T W AT Sef0eT IgOTERESId M40 W2 (What portion of carned profit
of a cooperative society must be retained in the Reserve Fund?)

A 0% (20%) @ e (5% C. 0% (10%) D. % (18%)

G G- N (T e Y Rresied w2dm (For which work is Elton Mayo's name most noted for?)

A, 7 ¢ & %3 (Time and Motion Study)

B. ¥ (Work)

C. el a3 Sesmaaael (Working Environment and Productivity)
. wAfET (Psychology)

e PifSaw toice fofes Fwws
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41.

42,

43.

45,

46.

47.

48.

49,

50.

51.

52.

GG WA A SArEe? (Which one is an example of standing plan?)

A. T (Goal) @ A (Policy) C. b (Budger) D. i (Deadline)
TG AREA &fFTR BAAE T2 (Which one is not an element of management process?)
A, B. oo @ e D.
(Planning) (Organizing) (Cooperation) (Control)
T AR 0 W' P s 2= Tme (In which business quick decision can be taken?)
@ = TFEA (Sole Proprietorship) B. S (Partnership)
C. G Pl (Joint Stock Company) D. R (Cooperative)

T T (P0G (ST SPIECAH STE (4% B Wi 022 (In what type of leadership does 2 leader seek
information from the followers?)

A, TmEfiF (Autocratic) f#g#e (Paternalistic)

C. SrETeiEs (Bureaucratic) . SNRTETS (Participative)

cermrr f-BoMIR 0EH €% (2 (Who is the proponent of Two-Factor theory of motivation?)
A. &S T (Abraham Maslow) @ e wda (Frederick Herzberg)
C. e P (Oliver Sheldon) D. Pm&F (Peter Drucker)

foen coreit wfafies @iz (Which one of the following is a statutory company?)

A, ICNfERH g% B @I (American Life Insurance Company)
B. (&nDr Ay B @i (Delta Life Insurance Company)

. Hiew f& TP (Jibon Bima Corporation)
D, I6TS #n&% B @ (Chartered Life Insurance Company)

T T frnEs? (Which one is the content of Memorandum of Association?)

ORISR S%wH (Rights of @ i B (Objective of Company)
Shareholders)
C. *fisFr f4mA (Election of Directors) D. = e %S (Dividend Declaration Method)

- e U5 (R WOS G (STS S e (B1eT feb i # e 3 (In which of the following
madels of c-Business does 2 consumer directly sell goods to another consumer?) ¥

A RER@B2B) B. BitR(C2B) . fE®m(C20 D. RER®B2C)
WCFGY (Marketing)
‘s W ARTeE-cE W, e W st Rere e ot Brmad | (“Many people want

Mercedes-Benz, only a few are able to buy.” This is an example 3
A, WEEE (of need) B. BeWR (of want) C.  FWEEA (of supply) . 5IfEAR (of demand)
P53 TS 7 el e e e etz (Which of the following is the first step in new product development
process?)
A, % B (Product Development) B. & fareres (Business Analysis)
. ¥ 3 (Idea Generation) D. =ffEnSRsE (Commercialization)
CETET Pk afed =R CF €11 T (What is the last stage of the consumer decision process?)
A. 71 fofiFse (Problem Recognition) . T3-48l w5a (Post Purchase Behavior)
C. feosme ¥ (Alternative Evaluation) ~ D. ¥ (Purchase)
far WP greR 21 4 A7 (Which ownership cannot be transferred?)
A. T (Place) @ & Service) C. &% (Goods) D. #f% (Property)

o8 e torre fofEs Fes
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53.

56.

a7,

58.

59.

60.

61.

62,

Fom eI A BEE G I I 071 | (One party or more parties involved in the channels of

distribution is/are known as J
@ TELTFN (intermediaries) B. f& w97 (sales people)
C. s (suppliers) D. 58 THA (retailers)

et o T TS e sifie g i w0 s o PR e 70 | (Pricing method
where a certain percentage of profit is added to the cost of production of a product is called__ )
@ TR 1 % (Cost-based pricing)

B. EFISES T 4GS (Value-based pricing)

C. afscnfe ffes o 498 (Competition-based pricing)

D. Eeomefefes 35 7% (Production-based pricing)

. e e AR oo = SR (Which of the following is an example of convenience consumer

product?)
@ =P (Bread) B. =eufE (Wrist warch)
C. %57 & (Motor cycle) D. %% (Athletic shoes)
Fsie IR TRGU 4 A1 (Which one is not a tool of marketing promotion?)
A. fErm (Advertisement) B. (&0 &7 (Sales Promotion)
. w5 (Propaganda) D. %ReEr (Public Relations)
@G BEF AfRTarE Bam T2 (Which of the following is not a component of micro-cnvironment?)
A. 9 (Customer) B. el (Supplier)
. Rl (Demography) D. e (Competitor)
151 7 T (T e g5 S &fEBE2 (Which type of retail business is ‘Bata Shoe Company’?)
A. =i & (Department Store) & == R Multiple Store)
C.  ®% R (Chain Store) D. e f@f@ (Convenience Store)
e fefie 30 et i e <oa facar? (Which one is correct for setting market skimming pricing?)
A. W5 (Low price) B. fmn s (Sales volume) .,
@ T v (High price) D. fmnaweel (Sales wend)

facsa i core e o 37ifE® = (Which of the following is a psychographic variable for

segmenting consumer markets?)

A, T (Purchase occasion) O & (Life style)
C. e o (Usage rate) D. & (Income)
sy @& IRAR (Finance and Banking)
fara-gom 9 R s @ | (Zero-Coupon Bond is sold at B
@ ST (discount) B. W@ (premium)
C. @ I (market value) D. ufeRE® 377 (face value)

D (TR B SISt ST (TTATERE R i RTeR e AMEeS ot 9% (Which of the following two types
of returns do sharcholders usually receive from their investment?)

A. 7 @ FERM (Interest and Dividend) B. «wnfs = e 7R (Expected Return and
S Dividend)
® = e ¥ S (Dividend and Capital D. #Eme e T (Dividend and Profit)
Gain)
e Pifea e tore fofes sws

www.bdniyog.com



63.

65.

66.

67.

68.

69.

70.

T1:

T2

b

fATbe T G ST SR YT T2 (Which of the following situations requires short-term financing?)
A. @3 (Machine purchase) B, SPRR°R & (Furniture purchase)
. Fo™ T (Raw materials purchase) D. weme ffet (Building construction)

S B G SR FE AT Yo/ 0, B Soo’ WE Uiz Py 4 T wE | O T W T TS? (Mr.
Imran purchased some goods in credit terms “10/20, net 100, What is the cost of trade credit?)

A 0% (20%) B. 9o% (30%) ® 80% @o%) D. @o% (50%)
ﬁmmﬂhmﬁﬁmmwmﬁmmmmwmmwmmaﬁmmr

(Under which of the following methods should the return of a project be greater than its cost of capital 1o
accept the project for making investment?)

@ T weRdY @ (Internal Rate of B. 1% AR 24 (Average Rate of Return)
Return)

C. 35 T3 7 (Net Present Valuc) D. FIESHeH F% (Profitability Index)

(A “@Ta 4% LRSI AR PR T2 (What type of risk can be reduced through diversification?)
@ @1 (Company Risk) B. FwBefs 4 (Systematic Risk)

C. TrHfe 4R (Inflation Risk) D, wmtsfes 4 (Political Risk)

C TR T 3R <1 Pl e B 309 W7 (Which negotiable instrument must be presented to
the same party twice?)

A. SRR (Promissory Note) © R e Bill of Exchange)

C. ¥Rt %@ (Dividend Warrant) D. &% (Cheque)

freow corafe P a1 e ¥ Fraecs =fimrers orefet Sg® T2 (Which of the following is not included in the
gantitativc methods of credit control of the central bank?)

WO TR A% (Rationing of Credit B. SRr® =@ A% (Bank Rate Policy)
Policy) ;
C. a1 e A% (Open Market Policy) D. e o #f#és A (Reserve Ratio Changing

Policy)

s oS it e 2 (Which of the following is not a central bank?)

A. 7 A0 Wi 52 96 (Royal Monetary Authority of Bhutan)

B. R = RAME (Bank of England)

C. oo fRers fiu (Federal Reserve System)

@ P T S S (National Bank of Canada)

TG Ry frow 4 Btz (Which of the following is the example of insurable pure risk?)
@ R (The) B. O I®EA ¥ (Loss in the Stock Market)

C. =& (Pandemic) D. Ao sfigel (Political Unrest)

O FoT e STt 4oy STz o oy = T, W wren w7 Ry vl R (Who has insurable
interest on freight in marine insurance if the freight is paid after arriving goods at the destination?)

A, TR I (Port Authority)

B. IR <& wemfR «renda (Clearing and Forwarding Agent)

C. =03 (Cargo Owner)

. R o=@ (Shipping Company)

C-femr wefie sifimner @ ey s s fosw @ ot 12 (In which of the following marine insurance cases
it is casy to determine the amount of loss and recovery of insurance claim?)

A, T A U (Jettison) B. ®wneErn A %% (Constructive Total Loss)
C. RSP %% (General Partial Loss) @ FRors sl =75 (Particular Partial Loss)
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